&7/~ DIRTFREAIC APPLICATION by MODEL

KTM -2021

Bike Year
125-450SX/SX-F/IXC/XC-F 00-21
125-530EXC/EXC-F/XC-W/XCF-W 00-21
125SX 16-21
125XC 21
150EXCTPI 20-21
150SX 16-21
150XC-W/TPI 17-21
250EXC/TPI 14-21
250EXC-F 14-21
250SX 14-21
250SX-F 14-21
250XC/TPI 14-21
250XC-F 14-21
250XC-W/TPI 14-21
300EXC/TPI 14-21
300XC/TPI 14-21
300XC-W/TPI 14-21
350EXC-F 14-21
350SX-F 14-21
350XC-F 14-21
350XCF-W 20-21
450EXC-F 17-21
450SX-F 14-21
450XC-F 14-21
450XCF-W 20-21
500EXC-F 17-21
500XCF-W 20-21
65SX 14-21
85SX 21
125SX 16-21
125XC 21
150EXCTPI 20-21
150SX 16-21
150XC-W/TPI 17-21
250EXC/TPI 14-21
250EXC-F 14-21
250SX 14-21
250SX-F 14-21
250XC/TPI 14-21
250XC-F 14-21
250XC-W/TPI 14-21
300EXC/TPI 14-21
300XC/TPI 14-21
300XC-W/TPI 14-21
350EXC-F 14-21
350SX-F 14-21
350XC-F 14-21
350XCF-W 20-21
450EXC-F 17-21
450SX-F 14-21
450XC-F 14-21
450XCF-W 20-21
500EXC-F 17-21
500XCF-W 20-21
65SX 14-21
85SX 21
1258X 16-21
125XC 21
150EXCTPI 20-21
150SX 16-21
150XC-W/TPI 17-21
250EXC/TPI 14-21
250EXC-F 14-21
250SX 14-21
250SX-F 14-21
250XC/TPI 14-21
250XC-F 14-21
250XC-W/TPI 14-21
300EXC/TPI 14-21
300XC/TPI 14-21
300XC-W/TPI 14-21
350EXC-F 14-21
350SX-F 14-21
350XC-F 14-21
350XCF-W 20-21
450EXC-F 17-21
450RALLY_FACTORYREPLICA 15-21
450SX-F 14-21

450XC-F 14-21

Description

ZETA
SX Stabilizer W90
SX Stabilizer W90
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin BREMBO
Pivot B-Lever CP-M 3-Fin FORMULA
Pivot B-Lever CP-M 3-Fin FORMULA
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin BREMBO
Pivot B-Lever FP-M 3-Fin FORMULA
Pivot B-Lever FP-M 3-Fin FORMULA
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo
Pivot C-Lever CP-M 3-Fin Brembo

Part number

ZE33-3091
ZE33-3091
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3283
ZE41-3284
ZE41-3284
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3683
ZE41-3684
ZE41-3684
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283
ZE42-3283



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike Year Description Part number
ZETA

450XCF-W 20-21 Pivot C-Lever CP-M 3-Fin Brembo ZE42-3283
500EXC-F 17-21 Pivot C-Lever CP-M 3-Fin Brembo ZE42-3283
500XCF-W 20-21 Pivot C-Lever CP-M 3-Fin Brembo ZE42-3283
65SX 14-21 Pivot C-Lever CP-M 3-Fin FORMULA ZE42-3287
125SX 16-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
125XC 21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
150EXCTPI 20-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
150SX 16-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
150XC-W/TPI 17-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250EXC/TPI 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250EXC-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250SX 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250SX-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250XC/TPI 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250XC-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
250XC-W/TPI 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
300EXC/TPI 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
300XC/TPI 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
300XC-W/TPI 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
350EXC-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
350SX-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
350XC-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
350XCF-W 20-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
450EXC-F 17-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
450RALLY_FACTORYREPLICA 15-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
450SX-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
450XC-F 14-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
450XCF-W 20-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
500EXC-F 17-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
500XCF-W 20-21 Pivot C-Lever FP-M 3-Fin Brembo ZE42-3683
65SX 14-21 Pivot C-Lever FP-M 3-Fin FORMULA ZE42-3687
1258X 16-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
125XC 21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
150EXCTPI 20-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
150SX 16-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
150XC-W/TPI 17-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250EXC/TPI 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250EXC-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250SX 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250SX-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250XC/TPI 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250XC-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
250XC-W/TPI 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
300EXC/TPI 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
300XC/TPI 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
300XC-W/TPI 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
350EXC-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
350SX-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
350XC-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
350XCF-W 20-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
450EXC-F 17-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
450RALLY_FACTORYREPLICA 15-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
450SX-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
450XC-F 14-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
450XCF-W 20-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
500EXC-F 17-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
500XCF-W 20-21 Pivot C-Lever CP-M 4-Fin Brembo ZE42-4283
1258X 16-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
125XC 21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
150EXCTPI 20-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
150SX 16-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
150XC-W/TPI 17-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250EXC/TPI 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250EXC-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250SX 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250SX-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250XC/TPI 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250XC-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
250XC-W/TPI 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
300EXC/TPI 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
300XC/TPI 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
300XC-W/TPI 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
350EXC-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
350SX-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
350XC-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
350XCF-W 20-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
450EXC-F 17-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
450RALLY_FACTORYREPLICA 15-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
450SX-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
450XC-F 14-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
450XCF-W 20-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
500EXC-F 17-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
500XCF-W 20-21 Pivot C-Lever FP-M 4-Fin Brembo ZE42-4683
1258X 16-21 Pivot Lever Set FPBlack ZE44-4121
125XC 21 Pivot Lever Set FPBlack ZE44-4121
150EXC/TPI 20-21 Pivot Lever Set FPBlack ZE44-4121
150SX 16-21 Pivot Lever Set FPBlack ZE44-4121
150XC-W/TPI 17-21 Pivot Lever Set FPBlack ZE44-4121

250EXC/TPI 14-21 Pivot Lever Set FPBlack ZE44-4121



@7/~ DIRTFREAIK

Bike

250EXC-F

2508X

250SX-F
250XC/TPI
250XC-F
250XC-W/TPI
300EXC/TPI
300XC/TPI
300XC-W/TPI
350EXC-F
350SX-F

350XC-F
350XCF-W
450EXC-F
450SX-F

450XC-F
500EXC-F
500XCF-W

1258X

125XC
150EXC/TPI
150SX
150XC-W/TPI
250EXC/TPI
250EXC-F

2508X

250SX-F
250XC/TPI
250XC-F
250XC-W/TPI
300EXC/TPI
300XC/TPI
300XC-W/TPI
350EXC-F
350SX-F

350XC-F
350XCF-W
450EXC-F
450SX-F

450XC-F
500EXC-F
500XCF-W

65SX
125SX/XC-W
150SX/XC-W
250EXC-F/XCF-W
250SX/EXC/XC/XC-W
250SX-F/XC-F
300EXC/XC/XC-W
350EXC-F/XCF-W
350SX-F/XC-F
400-530SX-R/EXC
450EXC/XC-W
450SX-F/XC-F
858X
125-300SX/EXC/XC/XC-W
250EXC-F/XCF-W
250SX-F/XC-F
350EXC-F/XCF-W
350SX-F/XC-F
450EXC/XC-W
450SX-F/XC-F
500EXC-F

858X

150EXCTPI
250EXC/EXC-F
250XC-W/TPI
300EXC/TPI
300XC-W/TPI
350EXC-F/XCF-W
450EXC/EXC-F
500XC-W/XCF-W/EXC/EXC-F
1258X

150SX

2508X
250SX-F/XC-F
250XC/TPI
300XC/TPI
350SX-F/XC-F
450SX-F/XC-F
125-530EXC/EXC-F
125-530SX/SX-F/XC/XC-F
125S8X

125XC

150SX

2508X

250SX-F

250XC

250XC-F

Year

14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
20-21
17-21
14-21
14-21
17-21
20-21
16-21
21
20-21
16-21
17-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
20-21
17-21
14-21
14-21
17-21
20-21
14-21
17-21
17-21
17-21
17-21
17-21
17-21
17-21
17-21
17-21
17-21
17-21
18-21
17-21
17-21
16-21
17-21
16-21
17-21
16-21
17-21
18-21
20-21
06-21
06-21
06-21
06-21
12-21
07-21
12-21
16-21
16-21
13-21
13-21
13-21
13-21
13-21
13-21
16-21
15-21
16-21
21
16-21
17-21
16-21
17-21
16-21

APPLICATION by MODEL

Description
ZETA
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPBlack
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FPOrange
Pivot Lever Set FP Orange
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Alu. Throttle Tube Closed
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Throttle Tube Closed End
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM EXC/EXC-F Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
Billet Kit KTM SXF/XCF '13- Orange
F-Disk Guard Mounting Kit
F-Disk Guard Mounting Kit
RSL-LowDown -30mm Orange
RSL-LowDown -30mm Orange
RSL-LowDown -30mm Orange
RSL-LowDown -30mm Orange
RSL-LowDown -30mm Orange
RSL-LowDown -30mm Orange
RSL-LowDown -30mm Orange

Part number

ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4121
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4127
ZE44-4157
ZEA45-5225
ZEA45-5225
ZE45-5225
ZE45-5225
ZE45-5225
ZE45-5225
ZE45-5225
ZE45-5225
ZE45-5225
ZE45-5225
ZEA45-5225
ZE45-5225
ZE45-8025
ZE45-8025
ZE45-8025
ZE45-8025
ZE45-8025
ZE45-8025
ZE45-8025
ZE45-8025
ZE45-8025
ZE51-3403
ZE51-3403
ZE51-3403
ZE51-3403
ZE51-3403
ZE51-3403
ZE51-3403
ZE51-3403
ZE51-3433
ZE51-3433
ZE51-3433
ZE51-3433
ZE51-3433
ZE51-3433
ZE51-3433
ZE51-3433
ZE52-1530
ZE52-1530
ZE56-05843
ZE56-05843
ZE56-05843
ZE56-05843
ZE56-05843
ZE56-05843
ZE56-05843



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike ACEL Description Part number
ZETA

300XC 17-21 RSL-LowDown -30mm Orange ZE56-05843
350SX-F 16-21 RSL-LowDown -30mm Orange ZE56-05843
350XC-F 16-21 RSL-LowDown -30mm Orange ZE56-05843
450SX-F 16-21 RSL-LowDown -30mm Orange ZE56-05843
450XC-F 16-21 RSL-LowDown -30mm Orange ZE56-05843
1258X 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
125XC 21 R-Shock End Cap WP 50mm Orange ZE56-12043
1508SX 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
2508X 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
250SX-F 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
250XC 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
300XC 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
350SX-F 11-21 R-Shock End Cap WP 50mm Orange ZE56-12043
350XC-F 11-21 R-Shock End Cap WP 50mm Orange ZE56-12043
450SX-F 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
450XC-F 09-21 R-Shock End Cap WP 50mm Orange ZE56-12043
150XC-W 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
250EXC 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
250EXC-F 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
250XC-W 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
300EXC 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
300XC-W 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
350EXC-F 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
350XCF-W 20-21 R-Shock End Cap WP 46mm Orange ZE56-12053
450EXC-F 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
500EXC-F 17-21 R-Shock End Cap WP 46mm Orange ZE56-12053
500XCF-W 20-21 R-Shock End Cap WP 46mm Orange ZE56-12053
858X 04-21 R-Shock End Cap WP 46mm Orange ZE56-12053
125SX 16-21 F.F.Bottom Adjuster WP AER Black/Red 1pc ZE56-20030
150EXC 20-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
150XC-W 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
250EXC 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
250EXC-F 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
250XC-W 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
300EXC 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
300XC-W 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
350EXC-F 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
350XCF-W 20-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
450EXC-F 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
500EXC-F 17-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
500XCF-W 20-21 LowDown Inner Kit Front WP XPlor48 AOS -30mm ZE56-31070
150XC-W 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
250EXC/SIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
250EXC-F/SIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
250XC-W 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
300EXC 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
300EXCSIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
300XC-W 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
300XC-W/SIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
350EXC-F/SIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
350XCF-W 20-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
450EXC-F/SIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
500EXC-F/SIXDAYS 17-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
500XCF-W 20-21 Rear Suspension Lowering Kit KYB/WP 46¢ -30mm Blue ZE56-32246
1258X 08-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
125XC 21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
150EXC 20-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
150SX 09-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
250SX 08-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
250SX-F 08-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
250XC 08-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
250XC-F 11-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
300XC 08-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
350SX-F 11-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
350XC-F 11-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
450SX-F 08-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
450XC-F 13-21 Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
1258X 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
150EXC 20-21 WP RearSuspension Gas Valve 64 ZE56-51064
150SX 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
150XC-W 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
250EXC 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
250EXC-F 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
250SX 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
250SX-F 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
250XC 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
250XC-F 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
250XC-W 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
300EXC 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
300XC 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
300XC-W 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
350EXC-F 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
350SX-F 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
350XC-F 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
350XCF-W 20-21 WP RearSuspension Gas Valve 64 ZE56-51064
450EXC 17-21 WP RearSuspension Gas Valve 64 ZE56-51064
450SX-F 16-21 WP RearSuspension Gas Valve 64 ZE56-51064
450XC-F 16-21 WP RearSuspension Gas Valve 64 ZE56-51064

500EXC 17-21 WP RearSuspension Gas Valve 64 ZE56-51064



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike

500XCF-W

85SX

125-530

450-690

ATVSX/XC
SMR/SMC/ENDURO/R/ADVENTURE/
SUPERMOTO/R/DUKE
SX/SX-FIEXC/EXC-F/EXC-R/XC/
XC-W/XC-F

125-530

450-690

ATVSX/XC
SMR/SMC/ENDURO/R/ADVENTURE/
SUPERMOTO/R/DUKE
SX/SX-FIEXC/EXC-F/EXC-R/XC/
XC-W/XC-F

150EXC

150XC-W

250/300EXC

250/300XC-W

250/350EXC-F

350XCF-W

450/500EXC-F

500XCF-W
125-450SX/SX-F/XC/XCTPI/XC-F
125-500EXC/EXCTPI/EXC-F/XC-W/
XCF-W/XC-WTPI

125S8X

125SX

125XC

150EXC

150EXCTPI

150SX

150SX

150XC-W/TPI

250EXC/TPI

250EXC/TPI

250EXC-F

2508X

2508X

250SX-F

250SX-F

250XC/TPI

250XC-F

250XC-W/TPI

300EXC/TPI

300EXC/TPI

300XC/TPI

300XC-W/TPI

350EXC-F

350SX-F

350XC-F

350XCF-W

450EXC-F
450RALLY_FACTORYREPLICA
450RALLY_FACTORYREPLICA
450SX-F

450SX-F

450XC-F

500EXC-F

500XCF-W

65SX

65SX
125-530SX/SX-F/EXC/EXCTPI/EXC-F/
XC/XC-F/XC-WX/XC-WTPI/XCF-W/

SMR
50SX/SXS/SM

65SX/SXS/XC

85SX/SXS/XC

85-450SX/SX-F
125-530EXC/EXC-F/XC/XC-FIXC-W/
XCF-W

655X
125-450SX/SX-F/XC/XC-TPI/XC-F
125-500EXC/EXCTPI/EXC-F/XC-W/
XC-WTPI

65SX

85SX
KTM125-530SX/SX-F/XC/XCTPI/XC-F/
EXC/EXCTPI/EXC-F/XC-W/XC-WTPI/
XCF-W

250EXC-F

250SX-F

250XC-F

350EXC-F

350SX-F

350XC-F

350XCF-W

Year

20-21
18-21

04-21

06-21
04-21
03-21
13-21

11-21

10-21
19-21

20-21

02-21
03-21

00-21

12-21
11-21
11-21
12-21
11-21
12-21
12-21

Description
ZETA
WP RearSuspension Gas Valve 64
WP RearSuspension Gas Valve 64
Magnetic Drain Bolt M12x12-P1.5 Orange
Magnetic Drain Bolt M12x12-P1.5 Orange
Magnetic Drain Bolt M12x12-P1.5 Orange

Magnetic Drain Bolt M12x12-P1.5 Orange

Magnetic Drain Bolt M12x12-P1.5 Orange

Stem Bolt KTM M20x27-P1.5 L11.5 Orange
Stem Bolt KTM M20x27-P1.5 L11.5 Orange
Stem Bolt KTM M20x27-P1.5 L11.5 Orange

Stem Bolt KTM M20x27-P1.5 L11.5 Orange

Stem Bolt KTM M20x27-P1.5 L11.5 Orange

Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Clutch Master Cylinder Guard for 28.6mmBar Black
Chain Guide Orange

Chain Guide Orange

F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
F-Brake Reservoir Cover Brembo Orange
Clutch Reservoir Cover Orange

F-Brake Reservoir Cover Orange

R-Brake Reservoir Cover Brenbo Orange

R-Brake Reservoir Cover Orange
R-Brake Reservoir Cover Orange
R-Brake Reservoir Cover Orange
Gas Cap Orange

Gas Cap Orange

Gas Cap Orange
Aluminum Bolt Set for Plastics Orange

Aluminum Bolt Set for Plastics Orange

Fork Guard Bolt Set 6pcs.Orange
Fork Guard Bolt Set 6pcs.Orange

Fork Guard Bolt Set 6pcs.Orange

Engine Plug Orange
Engine Plug Orange
Engine Plug Orange
Engine Plug Orange
Engine Plug Orange
Engine Plug Orange
Engine Plug Orange

Part number

ZE56-51064
ZE56-51064
ZE58-1517
ZE58-1517
ZE58-1517

ZE58-1517

ZE58-1517

ZE58-2817
ZE58-2817
ZE58-2817

ZE58-2817

ZE58-2817

ZE71-3000
ZE71-3000
ZE71-3000
ZE71-3000
ZE71-3000
ZE71-3000
ZE71-3000
ZE71-3000
ZE82-1403

ZE82-1403

ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-1310
ZE86-3110
ZE86-3210

ZE86-7110

ZE86-7210
ZE86-7210
ZEB86-7210
ZE87-4108

ZE87-4208

ZE87-4208
ZE88-5853

ZE88-5853

ZE88-9503
ZE88-9503

ZEB88-9503

ZE89-1617
ZE89-1617
ZE89-1617
ZE89-1617
ZE89-1617
ZE89-1617
ZE89-1617



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike ACEL Description Part number
ZETA

125-3002STROKE -21 Oil Filler Plug Orange ZE89-2416
250-6904STROKER I
250-6904STROKE'-21 -21 Qil Filler Plug Orange ZE89-2416
50/65SX -21 Oil Filler Plug Orange ZE89-2416
85/105SX/SXS/XC 03-21 Qil Filler Plug Orange ZE89-2416
125-450SX/SX-F 15-21 Launch Control White ZE89-7433
250EXC-F 14-21 Qil Filter Cover Orange ZE90-1447
2508X-F 13-21 Qil Filter Cover Orange ZE90-1447
350SX-F/EXC-F 11-21 Qil Filter Cover Orange ZE90-1447
350XC-F 11-21 Oil Filter Cover Orange ZE90-1447
350XCF-W 11-21 Oil Filter Cover Orange ZE90-1447
450EXC-F 17-21 Oil Filter Cover Orange ZE90-1447
450SX-F 16-21 Oil Filter Cover Orange ZE90-1447
450XC-F 16-21 Oil Filter Cover Orange ZE90-1447
500EXC-F/XC-FW 17-21 Oil Filter Cover Orange ZE90-1447
250EXC-F 17-21 Revolver Shift Lever Orange ZE90-3413
250SX/EXC/EXCTPI/XCTPI/XC-W 17-21 Revolver Shift Lever Orange ZE90-3413
%gg)s()é;l):(@('FF;EEXC/EXCTPI/XC — 13-21 Revolver Shift Lever Orange ZE90-3413
WTPI 17-21 Revolver Shift Lever Orange ZE90-3413
350EXC-F/XCF-W 17-21 Revolver Shift Lever Orange ZE90-3413
350SX-F/XC-F 11-21 Revolver Shift Lever Orange ZE90-3413
450EXC-F 17-21 Revolver Shift Lever Orange ZE90-3433
450SX-F/XC-F 16-21 Revolver Shift Lever Orange ZE90-3433
500EXC-F/XC-FW 17-21 Revolver Shift Lever Orange ZE90-3433
125SX/EXC/XC-W 17-21 Revolver Shift Lever Orange ZE90-3443
125XC 21 Revolver Shift Lever Orange ZE90-3443
150SX/XC-W/XC-WTPI 17-21 Revolver Shift Lever Orange ZE90-3443
125SX/EXC/XC-W 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
125XC 21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
150SX/XC-W/XC-WTPI 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
250EXC-F 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
250SX/EXC/EXCTPI/XCTPI/XC-W 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
ZSOSX;F/XC-Ij ; ; . 13-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
3\?1?;(? XCTPIEXC/EXCTPI/XC-WIXC 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
350EXC-F/XCF-W 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
350SX-F/XC-F 11-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
450EXC-F 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
450SX-F/XC-F 16-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
500EXC-F/XC-FW 17-21 Revolver Shift Lever Rep. Tip Mount Offset Orange ZE90-3913
125SX/EXC/XC-W 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
125XC 21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
150SX/XC-W/XC-WTPI 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
250EXC-F 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
250SX/EXC/EXCTPI/XCTPI/XC-W 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
250SX-F/XC-F 13-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
3\??;<IC/XCTPI/EXC/EXCTPI/XC -Wixe 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
350EXC-F/XCF-W 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
350SX-F/XC-F 11-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
450EXC-F 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
450SX-F/XC-F 16-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
500EXC-F/XC-FW 17-21 Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
250EXC-F 17-21 Forged Shift Lever Orange ZE90-4413
250SX/EXC/EXCTPI/XCTPI/XC-W 17-21 Forged Shift Lever Orange ZE90-4413
250SX-F/XC-F 13-21 Forged Shift Lever Orange ZE90-4413
3\?1(?')3(|C/XCTPI/EXC/EXCTPI/XC -WiXe 17-21 Forged Shift Lever Orange ZE90-4413
350EXC-F/XCF-W 17-21 Forged Shift Lever Orange ZE90-4413
350SX-F/XC-F 11-21 Forged Shift Lever Orange ZE90-4413
450EXC-F 17-21 Forged Shift Lever Orange ZE90-4433
450SX-F/XC-F 16-21 Forged Shift Lever Orange ZE90-4433
500EXC-F/XCF-W 17-21 Forged Shift Lever Orange ZE90-4433
125SX/EXC/XC-W 17-21 Forged Shift Lever Orange ZE90-4443
125XC 21 Forged Shift Lever Orange ZE90-4443
150SX/XC-W/XC-WTPI 17-21 Forged Shift Lever Orange ZE90-4443
125SX 16-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
125XC 21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
150SX/XC-W/XC-WTPI 16-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
2508X-F/XC-F 16-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
350SX-F/XC-F 16-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
450EXC-F 17-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
450SX-F 16-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
500EXC-F/XCF-W 17-21 Trigger Brake Pedal Orange w/Bearing ZE90-7423
125SX 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
125XC 21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
150EXC 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
150SX 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
250SX 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
250SX-F 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
250XC 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
250XC-F 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
300XC 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
350SX-F 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
350XC-F 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
450SX-F 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
450XC-F 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike Year Description Part number
ZETA

500XCF-W 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
85SX 20-21 Fork Top Bleeder S-Type WP Orange 2pcs ZE91-1427
1258X 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
125XC 21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
150EXC 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
150SX 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
250SX 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
250SX-F 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
250XC 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
250XC-F 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
300XC 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
350SX-F 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
350XC-F 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
450SX-F 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
450XC-F 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
500XCF-W 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
85SX 20-21 Fork Top Bleeder S-Type WP H-Blue 2pcs ZE91-1429
200-530XC-W/XCF-W 06-21 Aluminum FootPegs5 Black ZE93-1810
65SX 09-21 Aluminum FootPegs5 Black ZE93-1810
200-530XC-W/XCF-W 06-21 Aluminum FootPegs5 Orange ZE93-1817
65SX 09-21 Aluminum FootPegs5 Orange ZE93-1817
125-300XC 17-21 Aluminum FootPegs Black ZE93-1820
125-300XC-W 17-21 Aluminum FootPegs Black ZE93-1820
125-530EXC/EXC-F 17-21 Aluminum FootPegs Black ZE93-1820
125SX/250-450SX-F 16-21 Aluminum FootPegs Black ZE93-1820
250-450XC-F 16-21 Aluminum FootPegs Black ZE93-1820
2508X 17-21 Aluminum FootPegs Black ZE93-1820
858X 18-21 Aluminum FootPegs Black ZE93-1820
125-300XC 17-21 Aluminum FootPegs SX Blue ZE93-1823
125-300XC-W 17-21 Aluminum FootPegs SX Blue ZE93-1823
125-530EXC/EXC-F 17-21 Aluminum FootPegs SX Blue ZE93-1823
125S8X/250-450SX-F 16-21 Aluminum FootPegs SX Blue ZE93-1823
250-450XC-F 16-21 Aluminum FootPegs SX Blue ZE93-1823
250SX 17-21 Aluminum FootPegs SX Blue ZE93-1823
858X 18-21 Aluminum FootPegs SX Blue ZE93-1823
125-300XC 17-21 Aluminum FootPegs Orange ZE93-1827
125-300XC-W 17-21 Aluminum FootPegs Orange ZE93-1827
125-530EXC/EXC-F 17-21 Aluminum FootPegs Orange ZE93-1827
125SX/250-450SX-F 16-21 Aluminum FootPegs Orange ZE93-1827
250-450XC-F 16-21 Aluminum FootPegs Orange ZE93-1827
250SX 17-21 Aluminum FootPegs Orange ZE93-1827
858X 18-21 Aluminum FootPegs Orange ZE93-1827
125-250SX/XC 13-21 Fast-RearWheel Spacer Orange ZE93-2503
%gg-gggg))ééS{Ex)?é'?Pl/EXC EIRCT 13-21 Fast-RearWheel Spacer Orange ZE93-2503
XC-WTPI/XCE-W 08-21 Fast-RearWheel Spacer Orange ZE93-2513
125-450SX/SX-F 15-21 Wheel Spacer FrontOrange ZE93-3824
125-500EXC/EXC-F/EXC-W/XC-W 16-21 Wheel Spacer FrontOrange ZE93-3824
125-500EXC/EXC-F/EXC-W/XC-W 16-21 Wheel Spacer Rear Orange ZE93-3864
85SX 12-21 Wheel Spacer Rear Orange ZE93-3864
125-450SX/SX-F 15-21 Wheel Spacer Rear Orange ZE93-3884
125-450SX/SX-F/XC/XC-F 13-21 Rear Axle Block Orange ZE93-5417
125-530EXC/EXC-F/XC-W/XCF-W 00-21 Rear Axle Block Orange ZE93-5427
858X 15-21 Rear Axle Block Orange ZE93-5447
65SX 16-21 Rear Axle Block Orange ZE93-5457
125SX 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
125XC 21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
150EXC 20-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
150SX 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
150XC-W 17-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250EXC 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250EXC-F 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250SX 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250SX-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250XC 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250XC-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
250XC-W 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
300EXC 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
300XC 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
300XC-W 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
350EXC-F 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
350SX-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
350XC-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
350XCF-W 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
450EXC-F 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
450SX-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
450XC-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
500EXC 16-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
500XCF-W 20-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
858X 12-21 Axle Stop Bolt M20x19-P1.5 H21 Orange ZE93-8073
1258X 15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
125XC 21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
150EXC 20-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
150SX 15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
150XC-W 17-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
250EXC 16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
250EXC-F 16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
250SX 15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079
250SX-F 15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue ZE93-8079



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike

250XC
250XC-F
250XC-W
300EXC
300XC
300XC-W
350EXC-F
350SX-F
350XC-F
350XCF-W
450EXC-F
450SX-F
450XC-F
500EXC
500XCF-W
85SX

50SX
85SX
125S8X
1508X
200/250/300EXC
250EXC-F
2508X
250SX-F
300XC-W
350EXC-F
350SX-F
450EXC/F
450SX-F
500EXC/F
50SX
65SX
858X
858X
1258X
150SX
250EXC
250EXC-F
2508X
250SX-F
300EXC
300XC-W
350EXC-F
350SX-F
450EXC/F
4508SX-F
500EXC/F
105-450SX/SX-F
250-530/EXC-F/R

Year Description
ZETA
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue

16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
15-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
16-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue

20-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue
12-21 Axle Stop Bolt M20x19-P1.5 H21 H-Blue

14-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 4pcs
03-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 4pcs
01-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
09-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
00-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
07-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
01-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
05-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
12-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
12-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
11-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
09-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
07-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
12-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 13mm 6pcs
14-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 16mm 4pcs
20-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 16mm 4pcs
03-21 Gr5-Ti B-Disk S-FlangeBolt Set 6-M6 16mm 4pcs
03-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 4pcs
01-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
09-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
00-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
07-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
01-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
05-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
00-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
12-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
12-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
11-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
09-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
07-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
12-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 6pcs
06-21 Gr5-Ti Chain AjusterBolt/Nut Set M10 50mm 2pcs
07-21 Gr5-Ti Chain AjusterBolt/Nut Set M10 50mm 2pcs

Part number

ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079
ZE93-8079

ZT731-0234
ZT731-0234
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0236
ZT31-0264
ZT31-0264
ZT31-0264
ZT34-2504N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT34-2506N
ZT38-7501
ZT38-7501

85SX 06-21 Gr5-Ti Chain AjusterBolt/Nut Set M10 50mm Zﬁcs ZT38-7501

65SX
858SX17/14inch
858X19/16inch

EXC/EXC-F/XC/XC-F/SX/SX-F

65SX

85SX17/14inch
85SX19/16inch
SX/SX-F
EXC/EXC-F/XC/XC-F
EXC/EXC-F125-530
EXC/EXC-F125-530
EXC/-F125-530
SX/-F125-505
XC/-F150-525
XC/XC-F150-525
XC/XC-F150-525
XC-WI/-F125-530
XC-W/XCF-W125-530
XC-W/XCF-W125-530
EXC/EXC-F125-530
XC/XC-F150-525
XC-W/XCF-W125-530
EXC/EXC-F125-530
EXC/EXC-F125-530
XC/XC-F150-525
XC/XC-F150-525
XC-W/XCF-W125-530
XC-W/XCF-W125-530
EXC/EXC-F125-530
EXC/EXC-F125-530
XC/XC-F150-525
XC/XC-F150-525
XC-W/XCF-W125-530
XC-W/XCF-W125-530
EXC/EXC-F125-530
EXC/EXC-F125-530
XC/XC-F150-525

12-21 DC SUS Spoke Set Front
12-21 DC SUS Spoke Set Front
12-21 DC SUS Spoke Set Front
03-21 DC SUS Spoke Set Front
12-21 DC SUS Spoke Set Rear
03-21 DC SUS Spoke Set Rear
12-21 DC SUS Spoke Set Rear
03-21 DC SUS Spoke Set Rear
04-21 DC SUS Spoke Set Rear
05-21 R50 Rim 18-2.15 36H-1 Black
12-21 R50 Rim 18-2.15 36H-1 Black
03-21 R50 Rim 18-2.15 36H-1 Black
03-21 R50 Rim 18-2.15 36H-1 Black
08-21 R50 Rim 18-2.15 36H-1 Black
05-21 R50 Rim 18-2.15 36H-1 Black
11-21 R50 Rim 18-2.15 36H-1 Black
08-21 R50 Rim 18-2.15 36H-1 Black
05-21 R50 Rim 18-2.15 36H-1 Black
12-21 R50 Rim 18-2.15 36H-1 Black
05-21 R50 Rim 18-2.15 36H-1 Black
05-21 R50 Rim 18-2.15 36H-1 Black
05-21 R50 Rim 18-2.15 36H-1 Black
05-21 R50 Rim 18-2.15 36H-1 Red
12-21 R50 Rim 18-2.15 36H-1 Red
05-21 R50 Rim 18-2.15 36H-1 Red
11-21 R50 Rim 18-2.15 36H-1 Red
05-21 R50 Rim 18-2.15 36H-1 Red
12-21 R50 Rim 18-2.15 36H-1 Red
05-21 R50 Rim 18-2.15 36H-1 Green
12-21 R50 Rim 18-2.15 36H-1 Green
05-21 R50 Rim 18-2.15 36H-1 Green
11-21 R50 Rim 18-2.15 36H-1 Green
05-21 R50 Rim 18-2.15 36H-1 Green
12-21 R50 Rim 18-2.15 36H-1 Green
05-21 R50 Rim 18-2.15 36H-1 Silver
12-21 R50 Rim 18-2.15 36H-1 Silver
05-21 R50 Rim 18-2.15 36H-1 Silver

DC424-1011
DC424-1021
DC424-1031
DC424-1050
DC424-5012
DC424-5020
DC424-5031
DC424-5050
DC424-5150
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411
W01-64411G
WO01-64411G
W01-64411G
W01-64413
W01-64413
W01-64413
W01-64413
W01-64413
W01-64413
W01-64414
WO01-64414
W01-64414
W01-64414
W01-64414
W01-64414
W01-64418
W01-64418
W01-64418



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike

XC/XC-F150-525
XC-W/XCF-W125-530
XC-W/XCF-W125-530
SX/-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
SX/SX-F125-505
EXC/EXC-F125-530
EXC/-F125-530
SX/-F125-505
SX/SX-F125-505
XC/-F150-525
XC/XC-F150-525
XC-W/-F125-530
XC-W/XCF-W125-530
EXC/EXC-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/XCF-W125-530
EXC/EXC-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/XCF-W125-530
EXC/EXC-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/XCF-W125-530
EXC/EXC-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/XCF-W125-530
85/105SX19/16
85/105SX19/16

85SX

EXC/-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-WI/-F125-530
EXC/-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/-F125-530
EXC/-F125-530
SX/SX-F125-505
XC/F-W200-530
XC/XC-F150-525
XC-WI/-F125-530
EXC/EXC-F125-530
EXC/-F125-530
SX/-F125-505
SX/SX-F125-505
XC/-F150-525
XC/XC-F150-525
XC-WI/-F125-530
XC-W/XCF-W125-530
SX/-F125-505
SX/SX-F125-505
EXC/EXC-F125-530
EXC/-F125-530
SX/-F125-505
XC/-F150-525
XC/XC-F150-525
XC-WI/-F125-530
XC-W/XCF-W125-530
EXC/EXC-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/XCF-W125-530
85/105SX19/16

858X
SX/SX-F125-505
EXC/EXC-F125-530
XC/XC-F150-525
XC-W/XCF-W125-530
85/105SX19/16
EXC/-F125-530
SX/SX-F125-505
XC/XC-F150-525
XC-W/-F125-530
EXC/-F125-530
SX/SX-F125-505
XC/F-W200-530
XC/XC-F150-525

Year

11-21
05-21
12-21
03-21
05-21
11-21
05-21
05-21
11-21
05-21
11-21
05-21
11-21
05-21
03-21
03-21
05-21
08-21
05-21
08-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
05-21
12-21
12-21
12-21
03-21
03-21
08-21
08-21
03-21
03-21
08-21
08-21
03-21
03-21
08-21
08-21
08-21
05-21
03-21
03-21
05-21
08-21
05-21
08-21
05-21
03-21
05-21
05-21
03-21
03-21
08-21
05-21
08-21
05-21
05-21
05-21
05-21
05-21
12-21
12-21
05-21
05-21
05-21
05-21
12-21
03-21
03-21
08-21
08-21
03-21
03-21
08-21
08-21

Description
Z-WHEEL
R50 Rim 18-2.15 36H-1 Silver
R50 Rim 18-2.15 36H-1 Silver
R50 Rim 18-2.15 36H-1 Silver
R50 Rim 19-2.15 36H-1 Black
R50 Rim 19-2.15 36H-1 Black
R50 Rim 19-2.15 36H-1 Black
R50 Rim 19-2.15 36H-1 Black
R50 Rim 19-2.15 36H-1 Red
R50 Rim 19-2.15 36H-1 Red
R50 Rim 19-2.15 36H-1 Green
R50 Rim 19-2.15 36H-1 Green
R50 Rim 19-2.15 36H-1 Silver
R50 Rim 19-2.15 36H-1 Silver
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Black
R50 Rim 21-1.60 36H-1 Red
R50 Rim 21-1.60 36H-1 Red
R50 Rim 21-1.60 36H-1 Red
R50 Rim 21-1.60 36H-1 Red
R50 Rim 21-1.60 36H-1 Green
R50 Rim 21-1.60 36H-1 Green
R50 Rim 21-1.60 36H-1 Green
R50 Rim 21-1.60 36H-1 Green
R50 Rim 21-1.60 36H-1 Silver
R50 Rim 21-1.60 36H-1 Silver
R50 Rim 21-1.60 36H-1 Silver
R50 Rim 21-1.60 36H-1 Silver
S30 Rim 16-1.85 32H-4 85SX Black
S30 Rim 19-1.60 32H-1 85SX Black
S30 Rim 19-1.60 32H-1 85SX Black
M50 MotardRim 17-3.50 36H-1 Black
M50 MotardRim 17-3.50 36H-1 Black
M50 MotardRim 17-3.50 36H-1 Black
M50 MotardRim 17-3.50 36H-1 Black
M50 MotardRim 17-4.50 36H-1 Black
M50 MotardRim 17-4.50 36H-1 Black
M50 MotardRim 17-4.50 36H-1 Black
M50 MotardRim 17-4.50 36H-1 Black
M50 MotardRim 17-5.00 36H-1 MX Black
M50 MotardRim 17-5.00 36H-1 MX Black
M50 MotardRim 17-5.00 36H-1 MX Black
M50 MotardRim 17-5.00 36H-1 MX Black
M50 MotardRim 17-5.00 36H-1 MX Black
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set F
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
Steel Spoke Set R
SUS304 Spoke Set F
SUS304 Spoke Set F
SUS304 Spoke Set F
SUS304 Spoke Set F
SUS304 Spoke Set F
SUS304 Spoke Set F
SUS304 Spoke Set R 19"
SUS304 Spoke Set R 18"
SUS304 Spoke Set R 18"
SUS304 Spoke SetR 18"
SUS304 Spoke Set R '12-
SUS304 SM-Z Spoke Set 17" 36pcs F Trail-A
SUS304 SM-Z Spoke Set 17" 36pcs F Trail-A
SUS304 SM-Z Spoke Set 17" 36pcs F Trail-A
SUS304 SM-Z Spoke Set 17" 36pcs F Trail-A
SUS304 SM-Z Spoke Set 17" 36pcs R
SUS304 SM-Z Spoke Set 17" 36pcs R
SUS304 SM-Z Spoke Set 17" 36pcs R
SUS304 SM-Z Spoke Set 17" 36pcs R

Part number

W01-64418
W01-64418
W01-64418
WO01-74411
WO01-74411
WO01-74411
WO01-74411G
W01-74413
W01-74413
W01-74414
WO01-74414
WO01-74418
WO01-74418
W01-92411
W01-92411
W01-92411
W01-92411
W01-92411
W01-92411
W01-92411
W01-92411
W01-92411G
W01-92411G
W01-92411G
W01-92411G
W01-92413
W01-92413
W01-92413
W01-92413
W01-92414
W01-92414
W01-92414
W01-92414
W01-92418
W01-92418
W01-92418
W01-92418
W02-43341
W02-72311
W02-72311
WO03-57411
WO03-57411
WO03-57411
WO03-57411
W03-59411
W03-59411
W03-59411
W03-59411
WO03-5A411
WO03-5A411
WO03-5A411
WO03-5A411
WO03-5A411
W10-19110
W10-19110
W10-19110
W10-19110
W10-19110
W10-19110
W10-19110
W10-19110
W10-19510
W10-19510
W10-19610
W10-19610
W10-19610
W10-19610
W10-19610
W10-19610
W10-19610
W10-29110
W10-29110
W10-29110
W10-29110
W10-29410
W10-29410
W10-29510
W10-29610
W10-29610
W10-29610
W10-29810
W13-17521
W13-17521
W13-17521
W13-17521
W13-29031
W13-29031
W13-29031
W13-29031



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike ACEL Description Part number
Z-WHEEL

XC-W/-F125-530 08-21 SUS304 SM-Z Spoke Set 17" 36pcs R W13-29031
EXC/-F125-530 03-21 AR1 F Wheel Set W21-19011
SX/-F125-505 03-21 AR1 F Wheel Set W21-19011
XC/-F150-525 08-21 AR1 F Wheel Set W21-19011
XC-WI/-F125-530 08-21 AR1 F Wheel Set W21-19011
SX/-F125-505 03-21 AR1 R Wheel Set 19 inch W21-29031
EXC/-F125-530 03-21 AR1 R Wheel Set 18 inch W21-29051
SX/-F125-505 03-21 AR1 R Wheel Set 18 inch W21-29051
XC/-F150-525 08-21 AR1 R Wheel Set 18 inch W21-29051
XC-W/-F125-530 08-21 AR1 R Wheel Set 18 inch W21-29051
858X 12-21 F-Wheel 1.60-19 W21-49911
858X 12-21 F-Wheel C1 1.60-17 W21-49919
858X 12-21 F-Wheel C2 1.60-19 W21-49919
EXC/-F125-530 03-21 M50 Motard Rim Set R W26-29031
SX/SX-F125-505 03-21 M50 Motard Rim Set R W26-29031
XC/F-W200-530 08-21 M50 Motard Rim Set R W26-29031
XC/XC-F150-525 08-21 M50 Motard Rim Set R W26-29031
EXC/-F125-530 03-21 AR1 Motard Wheel Set F W27-19012
SX/SX-F125-505 03-21 AR1 Motard Wheel Set F W27-19012
XC/XC-F150-525 08-21 AR1 Motard Wheel Set F W27-19012
XC-W/-F125-530 08-21 AR1 Motard Wheel Set F W27-19012
EXC/-F125-530 03-21 AR1 Motard Wheel Set R W27-29031
SX/SX-F125-505 03-21 AR1 Motard Wheel Set R W27-29031
XC/XC-F150-525 08-21 AR1 Motard Wheel Set R W27-29031
XC-WI/-F125-530 08-21 AR1 Motard Wheel Set R W27-29031
EXC/-F125-530 03-21 AR1 Motard Wheel Set R W27-29032
SX/SX-F125-505 03-21 AR1 Motard Wheel Set R W27-29032
XC/XC-F150-525 08-21 AR1 Motard Wheel Set R W27-29032
XC-W/-F125-530 08-21 AR1 Motard Wheel Set R W27-29032
EXC/EXC-F125-530 05-21 Aluminum Nipple P3 36pcs Black W31-P3361
EXC/-F125-530 03-21 Aluminum Nipple P3 36pcs Black W31-P3361
SX/SX-F125-505 03-21 Aluminum Nipple P3 36pcs Black W31-P3361
SX/SX-F125-505 05-21 Aluminum Nipple P3 36pcs Black W31-P3361
XC/XC-F150-525 05-21 Aluminum Nipple P3 36pcs Black W31-P3361
XC/XC-F150-525 08-21 Aluminum Nipple P3 36pcs Black W31-P3361
XC-W/-F125-530 08-21 Aluminum Nipple P3 36pcs Black W31-P3361
XC-W/XCF-W125-530 05-21 Aluminum Nipple P3 36pcs Black W31-P3361
EXC/EXC-F125-530 05-21 Aluminum Nipple P3 36pcs Blue W31-P3362
SX/SX-F125-505 05-21 Aluminum Nipple P3 36pcs Blue W31-P3362
XC/XC-F150-525 05-21 Aluminum Nipple P3 36pcs Blue W31-P3362
XC-W/XCF-W125-530 05-21 Aluminum Nipple P3 36pcs Blue W31-P3362
EXC/EXC-F125-530 05-21 Aluminum Nipple P3 36pcs Red W31-P3363
SX/SX-F125-505 05-21 Aluminum Nipple P3 36pcs Red W31-P3363
XC/XC-F150-525 05-21 Aluminum Nipple P3 36pcs Red W31-P3363
XC-W/XCF-W125-530 05-21 Aluminum Nipple P3 36pcs Red W31-P3363
EXC/EXC-F125-530 05-21 Aluminum Nipple P3 36pcs Green W31-P3364
SX/SX-F125-505 05-21 Aluminum Nipple P3 36pcs Green W31-P3364
XC/XC-F150-525 05-21 Aluminum Nipple P3 36pcs Green W31-P3364
XC-W/XCF-W125-530 05-21 Aluminum Nipple P3 36pcs Green W31-P3364
EXC/EXC-F125-530 05-21 Aluminum Nipple P3 36pcs Yellow W31-P3365
SX/SX-F125-505 05-21 Aluminum Nipple P3 36pcs Yellow W31-P3365
XC/XC-F150-525 05-21 Aluminum Nipple P3 36pcs Yellow W31-P3365
XC-W/XCF-W125-530 05-21 Aluminum Nipple P3 36pcs Yellow W31-P3365
EXC/EXC-F125-530 05-21 Aluminum Nipple P3 36pcs Silver W31-P3368H
SX/SX-F125-505 05-21 Aluminum Nipple P3 36pcs Silver W31-P3368H
XC/XC-F150-525 05-21 Aluminum Nipple P3 36pcs Silver W31-P3368H
XC-W/XCF-W125-530 05-21 Aluminum Nipple P3 36pcs Silver W31-P3368H
EXC/-F125-530 03-21 Aluminum Nipple Q4 36pcs Black W31-Q4361
SX/SX-F125-505 03-21 Aluminum Nipple Q4 36pcs Black W31-Q4361
XC/XC-F150-525 08-21 Aluminum Nipple Q4 36pcs Black W31-Q4361
XC-WI/-F125-530 08-21 Aluminum Nipple Q4 36pcs Black W31-Q4361
EXC/EXC-F125-530 03-21 Astelight Hub F Black W41-51111
SX/SX-F125-505 03-21 Astelight Hub F Black W41-51111
XC/XC-F150-525 08-21 Astelight Hub F Black W41-51111
XC-W/XCF-W125-530 08-21 Astelight Hub F Black W41-51111
EXC/EXC-F125-530 03-21 Astelight Hub F Orange W41-51117
EXC/-F125-530 03-21 Astelight Hub F Orange W41-51117
SX/-F125-505 03-21 Astelight Hub F Orange W41-51117
SX/SX-F125-505 03-21 Astelight Hub F Orange W41-51117
XC/-F150-525 08-21 Astelight Hub F Orange W41-51117
XC/XC-F150-525 08-21 Astelight Hub F Orange W41-51117
XC-W/-F125-530 08-21 Astelight Hub F Orange W41-51117
XC-W/XCF-W125-530 08-21 Astelight Hub F Orange W41-51117
EXC/EXC-F125-530 03-21 Astelight Hub R Black W41-51211
SX/SX-F125-505 03-21 Astelight Hub R Black W41-51211
XC/XC-F150-525 08-21 Astelight Hub R Black W41-51211
XC-W/XCF-W125-530 08-21 Astelight Hub R Black W41-51211
EXC/EXC-F125-530 03-21 Astelight Hub R Orange W41-51217
EXC/-F125-530 03-21 Astelight Hub R Orange W41-51217
SX/-F125-505 03-21 Astelight Hub R Orange W41-51217
SX/SX-F125-505 03-21 Astelight Hub R Orange W41-51217
XC/-F150-525 08-21 Astelight Hub R Orange W41-51217
XC/XC-F150-525 08-21 Astelight Hub R Orange W41-51217
XC-W/-F125-530 08-21 Astelight Hub R Orange W41-51217
XC-W/XCF-W125-530 08-21 Astelight Hub R Orange W41-51217
858X 12-21 Astelight Hub F Orange W41-53117
125-450SX/XC 98-21 F-DiskRotor SUS W51-10525
125-530EXC/XC-W 98-21 F-DiskRotor SUS W51-10525

125-450SX/XC 98-21 R-DiskRotor SUS W51-20525



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike ACEL Description Part number
Z-WHEEL
125-530EXC/XC-W 98-21 R-DiskRotor SUS W51-20525
858X 21 R-DiskRotor SUS W51-20525
125-450SX/XC 98-21 R-DiskRotor SUS W51-22525
125-530EXC/XC-W 98-21 R-DiskRotor SUS Mud W51-22525
85SX 21 R-DiskRotor SUS Mud W51-22525
Z-CARBON

125-450SX/SXF/EXC/EXCF/XCF/XCW 08-21 F-Fork Wraps 52x160mm ZC35-4332
125-450SX/SXF/EXC/EXCF/XCF/XCW 08-21 F-Fork Wraﬁs 52x248mm ZC35-4338
65SX 98-21 Dura F-Sprocket 420-12T D331-306-12
65SX 98-21 Dura F-Sprocket 420-13T D331-306-13
65SX 98-21 Dura F-Sprocket 420-14T D331-306-14
125SX 98-21 Dura F-Sprocket 520-12T D331-537-12
150SX 09-21 Dura F-Sprocket 520-12T D331-537-12
150XC-W 17-21 Dura F-Sprocket 520-12T D331-537-12
250EXC/TPI 97-21 Dura F-Sprocket 520-12T D331-537-12
250EXC-F 06-21 Dura F-Sprocket 520-12T D331-537-12
2508X 94-21 Dura F-Sprocket 520-12T D331-537-12
250SX-F 06-21 Dura F-Sprocket 520-12T D331-537-12
250XC 06-21 Dura F-Sprocket 520-12T D331-537-12
250XC-F 07-21 Dura F-Sprocket 520-12T D331-537-12
250XC-W 06-21 Dura F-Sprocket 520-12T D331-537-12
300EXC/TPI 96-21 Dura F-Sprocket 520-12T D331-537-12
300XC 06-21 Dura F-Sprocket 520-12T D331-537-12
300XC-W 06-21 Dura F-Sprocket 520-12T D331-537-12
350EXC-F 12-21 Dura F-Sprocket 520-12T D331-537-12
350SX-F 11-21 Dura F-Sprocket 520-12T D331-537-12
350XC-F 11-21 Dura F-Sprocket 520-12T D331-537-12
350XCF-W 12-21 Dura F-Sprocket 520-12T D331-537-12
450EXC/F 03-21 Dura F-Sprocket 520-12T D331-537-12
450SX-F 07-21 Dura F-Sprocket 520-12T D331-537-12
450XC-F 08-21 Dura F-Sprocket 520-12T D331-537-12
500EXC/F 12-21 Dura F-Sprocket 520-12T D331-537-12
1258X 98-21 Dura F-Sprocket 520-13T D331-537-13
150SX 09-21 Dura F-Sprocket 520-13T D331-537-13
150XC-W 17-21 Dura F-Sprocket 520-13T D331-537-13
250EXC/TPI 97-21 Dura F-Sprocket 520-13T D331-537-13
250EXC-F 06-21 Dura F-Sprocket 520-13T D331-537-13
250SX 94-21 Dura F-Sprocket 520-13T D331-537-13
250SX-F 06-21 Dura F-Sprocket 520-13T D331-537-13
250XC 06-21 Dura F-Sprocket 520-13T D331-537-13
250XC-F 07-21 Dura F-Sprocket 520-13T D331-537-13
250XC-W 06-21 Dura F-Sprocket 520-13T D331-537-13
300EXC/TPI 96-21 Dura F-Sprocket 520-13T D331-537-13
300XC 06-21 Dura F-Sprocket 520-13T D331-537-13
300XC-W 06-21 Dura F-Sprocket 520-13T D331-537-13
350EXC-F 12-21 Dura F-Sprocket 520-13T D331-537-13
350SX-F 11-21 Dura F-Sprocket 520-13T D331-537-13
350XC-F 11-21 Dura F-Sprocket 520-13T D331-537-13
350XCF-W 12-21 Dura F-Sprocket 520-13T D331-537-13
450EXC/F 03-21 Dura F-Sprocket 520-13T D331-537-13
450SX-F 07-21 Dura F-Sprocket 520-13T D331-537-13
450XC-F 08-21 Dura F-Sprocket 520-13T D331-537-13
500EXC/F 12-21 Dura F-Sprocket 520-13T D331-537-13
125SX 98-21 Dura-Light F-Sprocket 520-13T D331-537-13L
1508SX 09-21 Dura-Light F-Sprocket 520-13T D331-537-13L
150XC-W 17-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250EXC/TPI 97-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250EXC-F 06-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250SX 94-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250SX-F 06-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250XC 06-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250XC-F 07-21 Dura-Light F-Sprocket 520-13T D331-537-13L
250XC-W 06-21 Dura-Light F-Sprocket 520-13T D331-537-13L
300EXC/TPI 96-21 Dura-Light F-Sprocket 520-13T D331-537-13L
300XC 06-21 Dura-Light F-Sprocket 520-13T D331-537-13L
300XC-W 06-21 Dura-Light F-Sprocket 520-13T D331-537-13L
350EXC-F 12-21 Dura-Light F-Sprocket 520-13T D331-537-13L
350SX-F 11-21 Dura-Light F-Sprocket 520-13T D331-537-13L
350XC-F 11-21 Dura-Light F-Sprocket 520-13T D331-537-13L
350XCF-W 12-21 Dura-Light F-Sprocket 520-13T D331-537-13L
450EXC/F 03-21 Dura-Light F-Sprocket 520-13T D331-537-13L
450SX-F 07-21 Dura-Light F-Sprocket 520-13T D331-537-13L
450XC-F 08-21 Dura-Light F-Sprocket 520-13T D331-537-13L
500EXC/F 12-21 Dura-Light F-Sprocket 520-13T D331-537-13L
125SX 98-21 Dura F-Sprocket 520-14T D331-537-14
150SX 09-21 Dura F-Sprocket 520-14T D331-537-14
150XC-W 17-21 Dura F-Sprocket 520-14T D331-537-14
250EXC/TPI 97-21 Dura F-Sprocket 520-14T D331-537-14
250EXC-F 06-21 Dura F-Sprocket 520-14T D331-537-14
250SX 94-21 Dura F-Sprocket 520-14T D331-537-14
250SX-F 06-21 Dura F-Sprocket 520-14T D331-537-14
250XC 06-21 Dura F-Sprocket 520-14T D331-537-14
250XC-F 07-21 Dura F-Sprocket 520-14T D331-537-14
250XC-W 06-21 Dura F-Sprocket 520-14T D331-537-14
300EXC/TPI 96-21 Dura F-Sprocket 520-14T D331-537-14
300XC 06-21 Dura F-Sprocket 520-14T D331-537-14
300XC-W 06-21 Dura F-Sprocket 520-14T D331-537-14

350EXC-F 12-21 Dura F-Sprocket 520-14T D331-537-14



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike Year
350SX-F 11-21
350XC-F 11-21
350XCF-W 12-21
450EXC/F 03-21
450SX-F 07-21
450XC-F 08-21
500EXC/F 12-21
1258X 98-21
150SX 09-21
150XC-W 17-21
250EXC/TPI 97-21
250EXC-F 06-21
250SX 94-21
250SX-F 06-21
250XC 06-21
250XC-F 07-21
250XC-W 06-21
300EXC/TPI 96-21
300XC 06-21
300XC-W 06-21
350EXC-F 12-21
350SX-F 11-21
350XC-F 11-21
350XCF-W 12-21
450EXC/F 03-21
450SX-F 07-21
450XC-F 08-21
500EXC/F 12-21
125S8X 98-21
150SX 09-21
150XC-W 17-21
250EXC/TPI 97-21
250EXC-F 06-21
250SX 94-21
250SX-F 06-21
250XC 06-21
250XC-F 07-21
250XC-W 06-21
300EXC/TPI 96-21
300XC 06-21
300XC-W 06-21
350EXC-F 12-21
350SX-F 11-21
350XC-F 11-21
350XCF-W 12-21
450EXC/F 03-21
450SX-F 07-21
450XC-F 08-21
500EXC/F 12-21
125S8X 98-21
150SX 09-21
150XC-W 17-21
250EXC/TPI 97-21
250EXC-F 06-21
250SX 94-21
250SX-F 06-21
250XC 06-21
250XC-F 07-21
250XC-W 06-21
300EXC/TPI 96-21
300XC 06-21
300XC-W 06-21
350EXC-F 12-21
350SX-F 11-21
350XC-F 11-21
350XCF-W 12-21
450EXC/F 03-21
450SX-F 07-21
450XC-F 08-21
500EXC/F 12-21
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
125-690SX/SXF/EXC/EXC-F/EXC-R/ 91-21
XC/XCW/SMR
250-450XC-F 17-21

Description

DRC
Dura F-Sprocket 520-14T
Dura F-Sprocket 520-14T
Dura F-Sprocket 520-14T
Dura F-Sprocket 520-14T
Dura F-Sprocket 520-14T
Dura F-Sprocket 520-14T
Dura F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura-Light F-Sprocket 520-14T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-15T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T
Dura F-Sprocket 520-16T

Dura R-Sprocket 520-38T
Dura R-Sprocket 520-39T
Dura R-Sprocket 520-40T
Dura R-Sprocket 520-41T
Dura R-Sprocket 520-42T
Dura R-Sprocket 520-43T
Dura R-Sprocket 520-44T

Dura R-Sprocket 520-45T
ENZO-Tool Base Valve Jig WP AER Silver

Part number

D331-537-14
D331-537-14
D331-537-14
D331-537-14
D331-537-14
D331-537-14
D331-537-14
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-14L
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-15
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16
D331-537-16

D34-75-038
D34-75-039
D34-75-040
D34-75-041
D34-75-042
D34-75-043
D34-75-044

D34-75-045
ED59-37-205



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike
125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR

125-690SX/SXF/EXC/EXC-F/EXC-R/

XC/XCW/SMR
85SX

85SX

85SX

85SX

85SX

125SX

125XC
150EXCTPI
150SX
150XC-W/TPI
250EXC/TPI
250EXC-F
2508X
250SX-F
250XC/TPI
250XC-F
250XC-W/TPI
300EXC/TPI
300XC/TPI
300XC-W/TPI
350EXC-F
350SX-F
350XC-F
350XCF-W
450EXC-F

450RALLY_FACTORYREPLICA

4508X-F
450XC-F
500EXC-F
500XCF-W
65SX

85SX

125SX

125XC
150EXCTPI
150SX
150XC-W/TPI
250EXC/TPI
250EXC-F
2508X
250SX-F
250XC/TPI
250XC-F
250XC-W/TPI
300EXC/TPI
300XC/TPI
300XC-W/TPI
350EXC-F
350SX-F
350XC-F
350XCF-W
450EXC-F
450SX-F
450XC-F
500EXC-F
500XCF-W
2508X
2508X-F
350SX-F
450SX-F
65SX
125-300XC
125-300XC-W
125SX/250-450SX-F
250-450XC-F
250-500EXC/EXC-F
2508X

858X

65SX

Year

91-21
91-21
91-21
91-21
91-21
91-21
91-21
91-21

91-21

03-21
03-21
03-21
03-21
03-21
16-21
21
20-21
16-21
17-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
20-21
17-21
15-21
14-21
14-21
17-21
20-21
14-21
21
16-21
21
20-21
16-21
17-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
14-21
20-21
17-21
14-21
14-21
17-21
20-21
19-21
19-21
19-21
19-21
09-21
17-21
17-21
16-21
16-21
17-21
17-21
18-21
09-21

DRC
Dura R-Sprocket 520-46T

Dura R-Sprocket 520-47T
Dura R-Sprocket 520-48T
Dura R-Sprocket 520-49T
Dura R-Sprocket 520-50T
Dura R-Sprocket 520-51T
Dura R-Sprocket 520-52T
Dura R-Sprocket 520-53T

Dura R-Sprocket 520-54T

Dura R-Sprocket 428-46T
Dura R-Sprocket 428-47T
Dura R-Sprocket 428-48T
Dura R-Sprocket 428-49T
Dura R-Sprocket 428-50T
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
Clutch Lever STD Brembo
ClutcBrake Lever STD
ClutcBrake Lever STD
Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD

Brake Lever STD
Radiator Hose Kit Orange
Radiator Hose Kit Orange
Radiator Hose Kit Orange
Radiator Hose Kit Orange
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
FootPegs Spring/Pin Set
Wide Foot Pegs CrMo Low

Part number

D34-75-046
D34-75-047
D34-75-048
D34-75-049
D34-75-050
D34-75-051
D34-75-052
D34-75-053

D34-75-054

D34-77-046
D34-77-047
D34-77-048
D34-77-049
D34-77-050
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-912
D40-01-913
D40-01-913
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D40-11-812
D47-01-910
D47-01-920
D47-01-920
D47-01-930
D48-01-119
D48-01-120
D48-01-120
D48-01-120
D48-01-120
D48-01-120
D48-01-120
D48-01-120
D48-02-410



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike

125-300XC
125S8X/250-450SX-F
250-450XC-F
2508X

858X

65SX

125-300XC
125-300XC-W
1258X/250-450SX-F
250-450XC-F
250-500EXC/EXC-F
2508X

85SX

65SX

125-300XC
125-300XC-W
125S8X/250-450SX-F
250-450XC-F
250-500EXC/EXC-F
250SX

85SX

65SX

125-300XC
125-300XC-W
125SX/250-450SX-F
250-450XC-F
250-500EXC/EXC-F
2508X

85SX

125-300XC
125-530EXC/EXC-F
125-530XC-W/XCF-W
125SX/250-450SX-F
250-450XC-F

2508X
125-530SX/SX-F/IEXC/EXCTPI/EXC-F/

XC/XCTPI/XC-W/XC-F
125-530SX/SX-F/EXC/EXCTPI/EXC-F/
XC/XCTPI/XC-W/XC-F
125-530SX/SX-F/EXC/EXCTPI/EXC-F/
XC/XCTPI/XC-WIXC-F
125SX

125XC

150EXC

150SX

150XC-W

250EXC

250EXC-F

2508X

250SX-F

250XC

250XC-F

250XC-W

300EXC

300XC

300XC-W

350EXC-F

350SX-F

350XC-F

350XCF-W

450EXC-F

450SX-F

450XC-F

500EXC

500XCF-W

858X

125-250SX

125-300XC
250-450SX-F
250-450XC-F

Year

17-21
16-21
16-21
17-21
18-21
09-21
17-21
17-21
16-21
16-21
17-21
17-21
18-21
09-21
17-21
17-21
16-21
16-21
17-21
17-21
18-21
09-21
17-21
17-21
16-21
16-21
17-21
17-21
18-21
17-21
17-21
17-21
16-21
16-21
17-21

00-21
00-21

00-21

01-21
21
20-21
09-21
17-21
05-21
06-21
02-21
06-21
06-21
11-21
06-21
05-21
06-21
06-21
12-21
11-21
11-21
12-21
08-21
03-21
08-21
12-21
20-21
04-21
17-21
17-21
17-21
17-21

Description

DRC
Wide Foot Pegs CrMo Low
Wide Foot Pegs CrMo Low
Wide Foot Pegs CrMo Low
Wide Foot Pegs CrMo Low
Wide Foot Pegs CrMo Low
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo Mid
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo High
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Wide Foot Pegs CrMo U-Wide
Motard Foot Pegs CrMo
Motard Foot Pegs CrMo
Motard Foot Pegs CrMo
Motard Foot Pegs CrMo
Motard Foot Pegs CrMo
Motard Foot Pegs CrMo

Stainless Brake Pin w/Clip Brembo Front
Stainless Brake Pin w/Clip Brembo Rear

Stainless Brake Pin Set 2pcs Brembo

Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
Bleed Cup for RearShock for WP
ENZO-Tool Base Valve Jig WP AER Silver
ENZO-Tool Base Valve Jig WP AER Silver
ENZO-Tool Base Valve Jig WP AER Silver
ENZO-Tool Base Valve Jig WP AER Silver

Part number

D48-02-482
D48-02-482
D48-02-482
D48-02-482
D48-02-482
D48-02-510
D48-02-582
D48-02-582
D48-02-582
D48-02-582
D48-02-582
D48-02-582
D48-02-582
D48-02-610
D48-02-682
D48-02-682
D48-02-682
D48-02-682
D48-02-682
D48-02-682
D48-02-682
D48-02-810
D48-02-882
D48-02-882
D48-02-882
D48-02-882
D48-02-882
D48-02-882
D48-02-882
D48-02-982
D48-02-982
D48-02-982
D48-02-982
D48-02-982
D48-02-982

D58-33-096
D58-33-097

D58-33-241

D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
D59-37-157
ED59-37-205
ED59-37-205
ED59-37-205
ED59-37-205



	ktm_1
	ktm_2
	ktm_3
	ktm_4
	ktm_5
	ktm_6
	ktm_7
	ktm_8
	ktm_9
	ktm_10
	ktm_11
	ktm_12
	ktm_13
	ktm_14

